NERA

FEHAER
TERER) ZH ARFFERAHZ LEENSHERTRBEISE(E1IR)
IE(BMBHF A2 LTS
TH (BATHIRR) RYFEE ML EH23E3A25HF T
BAL BB FRE224%12898 1585305
EILESE (BR) 71444
BAGET LSS ¥21,661,500| FEfMikCEEFREZST) ¥27,006,000
SEEEIIRBEER ¥1,031,500| RIEHBMECEERZEST) ¥21,661,500
NO £ 7 % A#l%E AL R
1| (i) £8l ¥20,630,000
2| (Bk) FrEEE SR ¥20,630,000
3| () Fvra—RL—ay ¥20,630,000
4|t ¥20,630,000
5|71 T2 (%) ¥20,630,000
6| (#) F1—E vy ¥20,630,000
7| (#%)M-B-W ¥20,630,000
8| (#%) SR TH#E ¥20,630,000
ol (A) omvEEE ¥20,630,000
10| (#) SR O 4 ¥20,630,000
11| (k) B3R ¥20,630,000
12| B AR ¥20,630,000
13| () LA THE ¥20,630,000
14| () R TR R ¥20,630,000
15| (¥k) 82 T ISR ¥20,630,000
16| (#%) L7 ¥20,630,000
17| (i) 1 2 ¥20,630,000
18| T7 T4 A (#) ¥20,630,000
19| (#%) A TH S ¥20,630,000
20| I BIE2 3% (5) ¥20,630,000

w #




NERA

FEHAER

TERER) ZH ARFFERAHZ LEENSHERTRBEISE(E1IR)

IE(BMBHF A2 LTS

TH (BATHIRR) RYFEE ML EH23E3A25HF T

BAL BB FRE224%12898 1585305
EILESE (BR)T1=4%4

BRAGET LS ¥21,661,500| FEMiECEEREED) ¥27,006,000

SEEEIIRBEER ¥1,031,500| RIEHBMECEERZEST) ¥21,661,500
NO £ 7 % A#LEE AL R

21| () o1+ ¥20,630,000
22| (#) 1—E vy ¥20,630,000
23| K% (%) ¥20,630,000
24| (Bp) S ESE ¥20,630,000
25| (F) /TFvH ¥20,630,000
26| (#) 7V TA MBI ¥20,630,000
27| () 7—+ ¥20,630,000
28| (BF) 1EILIEE SR ¥20,630,000
29| h A RET 2 (%) ¥20,630,000
30| (#) 245 ¥20,630,000
31|EEEE () ¥20,630,000
32| (kk) =4 ¥20,630,000
3= NSTEIE (%) ¥20,630,000
34| EAREER (1) ¥20,630,000
35| (#F) 1ahEE ¥20,630,000
36| (Bk) B EHM ¥20,630,000
37| () ERER ¥20,630,000
38| (#k) /MLIAA ¥20,630,000
39| = KEE% (1) ¥20,630,000
40| () ST 4R ¥20,630,000

w #




NERA

FEHAER

TERER) ZH ARFFERAHZ LEENSHERTRBEISE(E1IR)

IE(BMBHF A2 LTS

TH (BATHIRR) YRR NS ER2343H258% T

BAL BB FRE224%12898 1585305
EILESE (BR)T1=4%4

BRER S ¥21,661,500| FEMiECEEREED) ¥27,006,000

SEEEIIRBEER ¥1,031,500| RIEHBMECEERZEST) ¥21,661,500
NO £ 7 % A#LEE AL R

41| (k) R R ¥20,630,000
a2| (Bp) EH — 23R ¥20,630,000
43| — HRERE () ¥20,630,000
44| (B) T4—7 4474 ¥20,630,000 AL
45| (BR) Bk ¥20,630,000
46| (BF) B RESR ¥20,630,000
47| () =B ¥20,630,000
48| (¥) b— 52 3R ¥20,630,000
49| (B 1T HIE ¥20,630,000
50| K B2k (4F) ¥20,630,000
51 (481152 5% () ¥20,630,000
52|db & 52 E% () ¥20,630,000
53|k AL () ¥16,890,000 54k

w #




